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1 b—F A0 (PASUFFA A-B)
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a— BEAEMN ®ne TO
A-1| 1000 |%| KFME — FY+F—X|CLUB HEARTZ
B-1| 1000 [%| HOPE — +t B |
A-2 | 1110 | k| BIKLS —— #EiEfabd A-108%
B-2| 1110 |% 718 — ®A B-15%
A-3| 1220 | B|cLuB n—y— #EMA A-28%
B-3| 1220 B¢ NR —Y(UR5—A B-28
A-4| 1330 B mE — RE A-3f%
B-4| 1330 |B| £HTA — #HA B-3
A-5| 1440 % — A48
B-5| 1440 | % — B-48
A-6| 1550 | B = A-5H
B-6| 1550 |5 = B-5H%
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HEREREUTOZ
a—k HArmM =_e TO
c-1| 1000 |% f£E —Nexus GIRLYy FES
D-1| 1000 |% J\lR ——South Windsl 8RFRM
c-2| 1110 | % '8 — BB C-18%
D-2| 1110 | % fR® ——  Beat D-18%
C-3| 1220 || #EES — #RARM C-28%
D-3| 1220 | 5| FEBECW —SS FUKUOKA D-2%
C-4| 1330 |B| WRIE —— KANAGAWA| C-3p
D-4| 1330 |HB| AHFdE — &S D-3f%
C-5| 1440 | % — C-48
D-5| 1440 |% — D-48
C-6| 1550 |3 — C-5k%
D-6| 1550 |2 — D-5k%
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a—H HAERM Be TO
H-1| 1000 | 5| K%I — AR BYGONES
H-2 | 1110 | B ¥, —— FHDD H-1%
H-3| 1220 | 8| BYGONES — R H-28%
H-4| 1330 |B = — BB H-38%
H-5| 1440 |B — H-48
H-6| 1550 |28 — H-58%
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a—~ HAFM =e TO
-1 1000 | %&| BHAG —— TOYOKI —BmM
-2 [ 1110 | k| FMERSW — #BE -1
-3 | 1220 (&| —AMm — {#@ -2}
-4 | 1330 | % AR — ®BAR 1-3f%
-5 | 1440 | % — -48
I-6 | 1550 | % — -5




